
 

 

Page | 1 of 1 

XI Accountancy 

T.S.Grewal  

2024 Edition 

Financial Statements of Sole Proprietorship 

Practical Problems - 04 

 

AccountsAptitude.com 

 

Computation of Closing Stock 

Let Cost = 100 

Profit = 33⅓% 

Sales = 133.33 

Profit on Sales = 33.33/133.33 = 25% 

 
Total Sales = Cash Sales + Credit Sales 

Total Sales = 60,000 + 40,000 = ₹1,00,000 

Gross Profit = 1,00,000 x 25 = ₹25,000 

 
Opening Stock + Purchase  + Gross Profit = Sales  + Closing 

Stock 

20,000 + 70,000 + 25,000 = 1,00,000 + Closing Stock 

1,15,000 = 1,00,000 + Closing Stock 

Closing Stock = 1,15,000 - 1,00,000 = ₹15,000 

 


